

Spiekbriefje Logarithmen

Rekenregel	Voorbeeld
$^g\log(a) + ^g\log(b) =$	$^3\log(6) + ^3\log(8) =$
$^g\log(a) - ^g\log(b) =$	$^2\log(50) - ^2\log(5) =$
$p \cdot ^g\log(a) =$	$4 \cdot ^5\log(2) =$
$^g\log(a) = \frac{^p\log(\boxed{})}{^p\log(\boxed{})}$	$^3\log(8) = \frac{^5\log(\boxed{})}{^5\log(\boxed{})}$
$\frac{1}{g}\log(a) =$	$\frac{1}{6}\log(12) =$
$^g\log(g^a) =$	$^3\log(3^5) =$
$g^{^g\log(a)} =$	$4^{^4\log(3)} =$

Spiekbriefje Logarithmen

Rekenregel	Voorbeeld
$^g\log(a) + ^g\log(b) =$	$^3\log(6) + ^3\log(8) =$
$^g\log(a) - ^g\log(b) =$	$^2\log(50) - ^2\log(5) =$
$p \cdot ^g\log(a) =$	$4 \cdot ^5\log(2) =$
$^g\log(a) = \frac{^p\log(\boxed{})}{^p\log(\boxed{})}$	$^3\log(8) = \frac{^5\log(\boxed{})}{^5\log(\boxed{})}$
$\frac{1}{g}\log(a) =$	$\frac{1}{6}\log(12) =$
$^g\log(g^a) =$	$^3\log(3^5) =$
$g^{^g\log(a)} =$	$4^{^4\log(3)} =$

Spiekbriefje Logarithmen

Rekenregel	Voorbeeld
$^g\log(a) + ^g\log(b) =$	$^3\log(6) + ^3\log(8) =$
$^g\log(a) - ^g\log(b) =$	$^2\log(50) - ^2\log(5) =$
$p \cdot ^g\log(a) =$	$4 \cdot ^5\log(2) =$
$^g\log(a) = \frac{^p\log(\boxed{})}{^p\log(\boxed{})}$	$^3\log(8) = \frac{^5\log(\boxed{})}{^5\log(\boxed{})}$
$\frac{1}{g}\log(a) =$	$\frac{1}{6}\log(12) =$
$^g\log(g^a) =$	$^3\log(3^5) =$
$g^{^g\log(a)} =$	$4^{^4\log(3)} =$

Spiekbriefje Logarithmen

Rekenregel	Voorbeeld
$^g\log(a) + ^g\log(b) =$	$^3\log(6) + ^3\log(8) =$
$^g\log(a) - ^g\log(b) =$	$^2\log(50) - ^2\log(5) =$
$p \cdot ^g\log(a) =$	$4 \cdot ^5\log(2) =$
$^g\log(a) = \frac{^p\log(\boxed{})}{^p\log(\boxed{})}$	$^3\log(8) = \frac{^5\log(\boxed{})}{^5\log(\boxed{})}$
$\frac{1}{g}\log(a) =$	$\frac{1}{6}\log(12) =$
$^g\log(g^a) =$	$^3\log(3^5) =$
$g^{^g\log(a)} =$	$4^{^4\log(3)} =$